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5 N5 c/6

RELAÇÃO DO AÇO

4xB4 4xP1 V1

V2 V3 V4

V5

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 12 29 348

2 5.0 12 107 1284

3 5.0 76 87 6612

4 5.0 14 77 1078

CA50 5 8.0 20 196 3920

6 8.0 8 188 1504

7 10.0 24 VAR VAR

8 10.0 4 394 1576

9 10.0 6 451 2706

10 10.0 8 274 2192

11 10.0 2 234 468

12 10.0 2 257 514

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 8.0 54.2 23.5

10.0 94.2 63.9

CA60 5.0 93.2 15.8

PESO TOTAL

(kg)

CA50 87.5

CA60 15.8

Volume de concreto (C-30) = 1.61 m³

Área de forma = 18.76 m²


